l.experiment

Slunecnice 1 5.61 100 3.75 96.5 0.049
Helianthus 2 100 3.74 96.5 0.08
3 100 3.78 97.5 0.072
2.experiment
NO;.
E1[mV] |E2 [mV] ¢ [mmol.I"]  |n1-n2 Vvi[ml]  |V2[ml]

Slunecnice 1 211 212 100 95
Helianthus 2 211 214 100 96
3 211 213 100 92.5
Cas zalozeni: 9:20
{ jedn.  Kalibrace
(mM) roztok KNC 0.075 0.15 0.3 0.6 0.9 1.2
hodnotay 1.mereni 318 284 264 245 236 230
2.mereni
M 0.000075 0.00015 0.0003 0.0006 0.0009 0.0012
hodnota x p(NO3) 4.1249387 3.82390874 3.522878745 3.221849 3.045757 2.920819
hodnotay 318 284 264 245 236 230
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